Find the pH of 0.17 M methylamine.

On page A-14, we find a BASE ionization constant for methlyamine. It's therefore a
WEAK BASE ... K = H.4y L
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Set up equilibrium chart ...
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? Find the pH of 0.11 M hypochlorous acid

Page A-13 lists an acid ionization constant for hypochlorous acid. It's a WEAK ACID.
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* Find the pH of 0.030 M sodium hydroxide.
Sodium hydroxide is a Group IA hydroxide ... a common STRONG BASE

Since the STRONG base COMPLETELY ionizes, the hydroxide concentration will simply
equal the sodium hydroxide concentration...
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* An 0.15 M solution of monoprotic acid has a pH of 2.80 at 25 C. Find the Ka of the acid
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Write an equilibrium chart to reduce the number of variables ...
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oA the problem, we must get "x" another way.

We can use the pH to find hydronium ion concentration, which is equal to "x" (see the

equilibrium chart above!)
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° Find the pH of a solution prepared by dissolving 3.00 g of ammonium nitrate (FW=80.052 g/mol) solid
info enough water to make 250. mL of solution.
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To solve the equilibrium problem, we need 1o find the nominal concentration of our
ammonium nitrate.
my | A/P},? NOj

—

%0,0513 NH{,]NOS -
hol MY 5. 537975640 § ma) My VO3
ng,DSlg}\/Hb} WO q

_0.037975640§ ms) WAy V03

vminn) T 5 2SO0 L
—O.U9I015 613 M Py Nog

%\003 NP}% NO-3 S

-
—

LAy Moy )



NH%**H'LOZ—% NLE}"{ Aq0t

o = CrH JC 0] S,SCl0”"
AR
SOQC;FS ET""'}""I j A Etﬂﬂui’l‘l:' fiv mJ
N Ha O +X ps
Ha0* O Y %
N}"}uf'l: 0.1499QD -}( O.Mggp—1=
Solve ...
- <
X" T X =7 05% 10 e- U0 )
=, 1D .
014990 - X ) pr: S0 |
J/\m,o,wqqo -

R S A Gy P

o.iv199¢

... seems reasonable for a weakly
acidic salt at moderate
concentration.



